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BIEIER: S02
48 5H 68 718 88 9H 108 11H 128 1A 2R 3H S
EITER AAIE B 28 31 30 31 31 30 29 30 31 31 29 31 362
I 2 B RS 689 738 715 738 737 715 714 715 739 738 690 740 8668
*F #91E(ppm) 0.000 0.000 0.000 0.000 0.000 0.000 0.000 0.000 0.000 0.000 0.000 0.000 0.000)
1B {EHY0.1ppm % 8 Z 7= B R 2K 0 0 0 0 0 0 0 0 0 0 0 0 0
B 9{EA%0.04ppmZE B Z 1= H K 0 0 0 0 0 0 0 0 0 0 0 0 0
1 B 1 E D = = (B (ppm) 0.003 0.003 0.002 0.002 0.002 0.002 0.003 0.002 0.002 0.003 0.003 0.004 0.004
B FH){E D x5 fE(ppm) 0.001 0.001 0.001 0.001 0.001 0.001 0.001 0.000 0.000 0.001 0.001 0.001 0.001
#LLAERE & B AHAIE B 28 31 30 31 31 30 29 30 31 31 28 31 361
I 2 B RS 690 738 716 738 738 715 714 715 739 738 683 740 8664
*F #91E(ppm) 0.000 0.000 0.000 0.000 0.000 0.000 0.000 0.000 0.000 0.000 0.000 0.000 0.000)
1B {EHY0.1ppmZ #E 2 7= B R 2K 0 0 0 0 0 0 0 0 0 0 0 0 0
B 9{EA%0.04ppmZE B Z 1= HEK 0 0 0 0 0 0 0 0 0 0 0 0 0
1 B R E D = = (B (ppm) 0.002 0.001 0.001 0.001 0.001 0.001 0.001 0.002 0.001 0.001 0.002 0.001 0.002
B FH){E D x5 fE(ppm) 0.001 0.001 0.001 0.001 0.000 0.000 0.000 0.000 0.000 0.001 0.001 0.001 0.001
KiR&t AHAIE B 28 31 30 31 31 30 29 30 31 31 29 29 360
I 2 B RS 689 738 715 738 738 715 715 714 739 738 689 702 8630
*F #91E(ppm) 0.000 0.000 0.000 0.000 0.000 0.000 0.000 0.000 0.000 0.000 0.000 0.000 0.000)
1B RE {EHY0.1ppmZ #E 2 7= B R 2K 0 0 0 0 0 0 0 0 0 0 0 0 0
B 9{EA0.04ppmZE B Z 1= HEK 0 0 0 0 0 0 0 0 0 0 0 0 0
1 B R E D = = (B (ppm) 0.003 0.003 0.004 0.003 0.002 0.002 0.002 0.001 0.001 0.002 0.001 0.001 0.004
B F#){E D &5 fE(ppm) 0.001 0.001 0.001 0.001 0.001 0.001 0.001 0.001 0.001 0.000 0.001 0.001 0.001
RHEEH AAIE B 28 31 30 31 31 30 29 30 31 31 29 31 362
I B RS 690 738 713 738 738 715 716 713 739 739 688 740 8667
*F #51E(ppm) 0.000 0.000 0.000 0.000 0.000 0.000 0.000 0.000 0.000 0.000 0.000 0.000 0.000]
1B {EHY0.1ppm % #E Z 7= B R 2K 0 0 0 0 0 0 0 0 0 0 0 0 0
B 9{EA0.04ppmZE B Z 1= H K 0 0 0 0 0 0 0 0 0 0 0 0 0
1B E D = =1 (B (ppm) 0.002 0.002 0.001 0.001 0.001 0.001 0.001 0.001 0.001 0.002 0.002 0.002 0.002
B F#){E D x5 fE(ppm) 0.001 0.001 0.001 0.000 0.000 0.000 0.000 0.000 0.000 0.000 0.001 0.001 0.001
HRER AAIE B 28 31 30 31 31 30 29 30 31 31 29 31 362
I 2 B RS 691 738 714 737 736 715 709 715 739 738 689 737 8658
*F #591E(ppm) 0.000 0.000 0.000 0.000 0.000 0.000 0.000 0.000 0.000 0.000 0.000 0.000 0.000)
1B {E HY0.1ppm % 8 Z 7= B R 3K 0 0 0 0 0 0 0 0 0 0 0 0 0
B 9{EA0.04ppmZE B Z 1= H K 0 0 0 0 0 0 0 0 0 0 0 0 0
1 B E D = =1 (B (ppm) 0.002 0.003 0.006 0.004 0.008 0.004 0.001 0.001 0.002 0.001 0.002 0.002 0.008
B F#){E D x5 fE(ppm) 0.001 0.001 0.001 0.001 0.001 0.001 0.001 0.000 0.001 0.000 0.001 0.001 0.001
E3E] AAIE B 28 31 30 31 31 30 29 30 31 31 29 31 362
I 2 B RS 695 738 715 737 737 714 713 714 739 737 690 739 8668
*F #91E(ppm) 0.000 0.000 0.000 0.000 0.000 0.000 0.000 0.000 0.000 0.000 0.000 0.000 0.000)
1 BFRE {EHY0.1ppmZ B Z 7= B R 2K 0 0 0 0 0 0 0 0 0 0 0 0 0
BT 9{EA0.04ppmZE B Z 1= H K 0 0 0 0 0 0 0 0 0 0 0 0 0
1 B 1 E D = = (B (ppm) 0.002 0.002 0.002 0.003 0.005 0.002 0.002 0.002 0.002 0.001 0.002 0.003 0.005
B F#){E D x5 fE(ppm) 0.001 0.001 0.001 0.001 0.001 0.001 0.001 0.001 0.001 0.001 0.001 0.001 0.001
ES ke ERET AAIE B 28 31 30 31 31 30 29 30 31 31 29 31 362
I E B RS 693 737 715 737 736 715 712 715 739 736 690 739 8664
*F #91E(ppm) 0.000 0.000 0.000 0.000 0.000 0.000 0.000 0.000 0.000 0.000 0.000 0.000 0.000)
1B {EHY0.1ppm % #8 Z 7= B R 2K 0 0 0 0 0 0 0 0 0 0 0 0 0
BT 9{EA0.04ppmZE B Z 1= H K 0 0 0 0 0 0 0 0 0 0 0 0 0
1 B 1 E D = = (B (ppm) 0.003 0.002 0.002 0.003 0.002 0.002 0.003 0.003 0.001 0.004 0.002 0.002 0.004
B FH){E D x5 fE(ppm) 0.001 0.001 0.001 0.001 0.001 0.001 0.001 0.001 0.001 0.002 0.001 0.001 0.002
HETH AHAIE B 28 31 30 29 31 30 29 30 31 31 29 31 360
I B RS 694 738 715 720 738 714 712 713 739 739 689 739 8650
*F #91E(ppm) 0.000 0.000 0.000 0.000 0.000 0.000 0.000 0.001 0.000 0.000 0.000 0.000 0.000)
1 BFRE {EHY0.1ppm % #E Z 7= B R 3K 0 0 0 0 0 0 0 0 0 0 0 0 0
BT 9{EA0.04ppmZE B Z 1= H K 0 0 0 0 0 0 0 0 0 0 0 0 0
1 B 1 I D B 1= (B (ppm) 0.001 0.002 0.001 0.002 0.002 0.001 0.001 0.002 0.002 0.002 0.001 0.002 0.002
HEBE DR = 1B (ppm) 0.001 0.001 0.001 0.001 0.001 0.001 0.001 0.002 0.001 0.001 0.001 0.001 0.002)




